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ZF LR 9 13 6 7
HKk 63 163 94 69(|=iR 4 11 6 5
L 157 380 195 185||we s 37 74 35 39
T 57 126 57 69
VR 14 36 19 17| @& 413 900 451 449
il= 31 84 44 40
BELY 42 88 44 A 7reE 241 553 275 2178
— BT 72 173 86 87|-=z& 102 209 107 102
Tis 68 145 82 63| R 19 35 19 16
AE 61 171 88 83|[ke AL 32 66 31 35
pg 33 83 39 V=1 19 37 19 18
1)z 18 43 17 26
)] 27 44 22 228 & 108 215 116 99
L&A 353 788 399 389|m=0o 31 66 35 31
FEEHR 16 29 16 13
20 18 33 15 18| 23 53 29 24
AL 62 137 72 65|[A LR 18 35 20 15
AT 31 68 36 32|7% L+ 20 32 16 16
WwEEH 14 34 19 15
s 24 50 26 24| R EE 130 258 126 132
FEPN 36 91 47 44
F R 11 32 18 14|[FE B2 68 139 69 70
Pl 18 27 13 14|[E Bz 62 119 57 62
15 ek 3 3 2 1
BESE 20 50 26 24| £ EE 28 39 14 25
15 BT HT 18 42 23 19
tig 98 221 102 119(:&< 28 39 14 25




BT 4 | #HE%H% | A0 E E=S BT & | #HEFEH | A0 E =S
5 #hisg 2,309 b, 708 2,794 2,914
5 & 2,309 5, 708 2,794 2,914
B iRET &R 100 269 135 134
EiRETILR 49 110 49 61
EiRET 54k 1,123 2,643 1,289 1,354
5iRETH 547 383 1,025 516 509
EARATA 547 160 431 206 225
B iRETH# 26 66 30 36
EiRETEA 18 46 24 22
5 iRETHH 11 34 14 20
5 iRETRI 26 67 31 36
BiRET S E 30 83 39 44
EiRET L% 26 11 38 39
B iRET &R 44 120 58 62
5iRETIA 2 106 271 141 130
5 RATIE 3 92 224 107 117
5iREIIE 4 35 51 24 27
SARATHILT 80 191 93 98
JiO s 1, 451 3, 685 1,784 1,901 ERETERERGIRIIEHAD - HEHK
J1{=| 1, 451 3, 685 1,784 1,901
RETE& | 110,784 253, 445| 124,327| 129,118
oz 109 273 135 138
nAdw 101 2178 140 138l thig 82,841 184,171 90, 276| 93, 895
=IO 375 920 436 484z Stthis 3,853 10, 381 5,142 5,239
wIIO 458 1,119 520 599 (| 2% th sk 4, 773 12,570 6,119 6, 451
na4Esrs 129 370 190 180|[= & #asg 2,458 6,182 3,045 3,137
NAOREE 45 121 60 61|ty S his 355 707 356 351
e 84 215 105 110|)/1NEl o 15 1,788 4,074 1,991 2,083
naxa 1 25 13 120 & itz 1,293 3,400 1,660 1,740
naxiR 24 41 28 13| satthis 3,159 7,893 3,884 4,009
J Ok 2 5 3 2[4 R sk 6,504 14,674 7,276] 7,398
JNOoEZEWL 113 318 154 1645tk thig 2,309 5,708 2,794 2,914
11 B $hig 1, 451 3,685 1,784| 1,901




